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Within 10 minutes of the issue of the Question Booklet, check the Question Booklet to enaure that
it containg all the pages in correct sequernce and that no page/question is missing. In case of faulty

Question Booklet bring it to the notice of the Superintendent/lnvigilators immediately to ubtain a
fresh Question Booklet.

Do not bring any loose peper, written or blank, inside the Examination Hall except the Admit Card
unthout its envelope.

A separate Angwer Sheet is given. & should not be folded or mutilated. A second Answer Sheet shall
not be provided. Oniy the Answer Sheet will be evaluated.

Write your Roif Number and Senial Number of the Answer Sheet by pen in the space provided above.

On the front page of the Anawer Sheet, write by pen your Roll Number in the spave provided
at the top, and by darkening tha circles at the bottom. Alsc, wherever applicable, write the
Question Booklet Number and the Set Number in appropriate piaces.

No overwriting is allowed in the entries of Rall No., Question Booklet No, and Set Ma. [if any} on
OMR sheet and also Roll No. and OMR Sheet No, on the Question Booklet,

Any change in the aloresaid entries is to be verified by the invigilator, otherwise it will be taken as
unfair means,

Each question in this Booklet is followed by four alternative answers. For each gquestion, Lyou are fo
record the carrect option on the Answer Sheet by darkening the appropriate crele in the correspanding

row of the Answer Sheet, by ball-point pen as mentioned in the guidelines given on the first pags
of the Answer Sheet.

For each question, darken only one circle on the Answer Sheet. If yeu darken more than one circle
or darken a circle partially, the answer will be treated as incorrect.

Note that the answer once filled in ink cannot be changed. If you do not wish to affempl a question,
leave all the circles in the corresponding row blank {such question will be awardad zero mark).

For rough work, use the inner back page of the title cover and the blank page at the end of this
Booktlat.

Deposit oniy the OMR Answer Sheet at the end of the Tesat.
You are not permitted to leave the Examination Hall until the end of the Teat.

If a candidate attempts to use any form of unfair means, he/she shall be liable to such punishment
as the University may determine and impose on him/her.
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14U/ 117/27 /Set No. 2
No. of Questions /Wl #Y wwar ; 150

Time /¥R : 2 Hours /70 Pull Marks /qwi® : 450 -

Note : {1} Attempt as many questions as you can. Each question carries 3 marks. One
| mark will be deducted for each incorrect anawer. Zero mark will be awarded
for each unattempted question.
s I N W FA RN EE R TRE A I I WY E wE W F
forg ww o+ W AN | TAE IEOf@ TE F WA I W)
(2) If more than one alternative answers seem to be approximate to the correct
answer, chooae the closest one.

7R wite d=fys T o I ¥ Pee viw A, @t P mit 3w 3

(185} 1 P.T.0.)
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Dlrections :  (Question No. 1-30) Select the best option from the four alternatives given

fdwm .

1.

2,

{185}

belowr.
(TF H= 1-30) = fog g am et f @ ol e s = w

Hydrogen fuel cell vehicles produce one of the following as ‘exhaust’
ez I R IR T @ e §F w fioffee 3 A s Rt g 27

(1} NH; [Z) CH, {3) HyO (4) H;0,

King Cobra is the only snake that makes its own nest. It makes its nest because
{1) it is a snake-eater and the nest helps attract other snakes
{2) it is a viviparous snake and needs a nest to give birth to its offsprings

[3) itis an oviparous snake and lays its eggs in the nest and guards the nest until they
are hatched

{4) itis a large, cold blooded animal and needs a nest to hibernate in the cold season

for ¥ @ e T Wl 2, W dfed = By T w2 9% oy el w Rl
wafere = 2, wiifs

(1) @ afg w @ aar & ol diwdt e widl B wwa w0 #

(2) 7% 7% wugw Wl ¥ o ot FEE W 9w B g ow A B v B R

{3) T T siga Wl R o died F o Tm oA o A W PR W TR W w0 2
H]ﬂﬁw.ﬁmmmtmmﬁ_ﬁmﬁm%mmﬁuﬂﬁmma

Rivera that pass through Himachal Pradesh are
f1] only Beas and Chenab

i2] only Beas and Ravi

{3) only Chenab, Ravi and Sutlej

(4) Beas, Chenab, Ravi, Sutlej and Yamuna
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forrs ww @ oY awht afeat §

(1) == = o e

(2) %=9 | w@ o

(3) ¥aa fem, vh @ @A

(4) =, fm, v, weew @ g

4. Who has been appointed as the permanent representative of India to United Nationa?

{1) Hardeep Puri | {2} Kamleah Sharma
{3) Salil Shatty (4) Ashck Kumer Mukherjee
mtﬁﬁwmmuﬁﬁﬁ%mﬂﬁﬁﬁﬁhwh
(1) = 78 (2) wemn waf
{3) wim A (4) s FAR gE
8. Which of the following pairs is not correctly matched?
Dam i i . Lake River
(1) Gowvind Sagar Sutlej
(2} Kollesu Lake Penner
{3) Ukai Reservoir Tapi
(4] Wular Lake g Jhelum
ﬁﬂiﬂaﬂq-mwuﬂiﬂﬂ giafem ff 47
g He I
(1) M= sm LiEGE |
(2} #Fg W= ¥
(3) TN AR st
(4) T He T

(188) P.T.0,)
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&, National Consumer Righta Day is obaerved in India on

{1} December 24 (2) September 25

{3) October 25 ' (4) November 25

wra # i Inviem atfter fem = mAmn ST ke

(1] 24 R (2) 25 foaam (3) 25 FEW (4) 25 JIER

7. Which one of the following began with Dandi March?

(1} Home Rule Movement {2) Non-Cooperation Movement
{3) Civil Disobedience Movement (4} Quit India Movement

fre & & frd) yrwom =it o & Wy w7

(1) Wwest m-are (2) eaEE amgen

(3) afya sEm n=em (4) WRA I RS

B. Namec of the Paldstan Prime Minister who signed the Lahore Declaration in 1999 is

(1) Ayub Khan {2) Yahya Khan (3) Z. A. Bhutto {4} Nawaz Sharif
w1 1999 ¥ wft oM W rETR $Q 9 ORREE ¥ oaeesdt & oam wn at
(1) >F# ¥§ (2) RN &= (3) ¥To Yo WR (4} = uhw

9. Which of the following rivers docs not originate in India?

{1] Beas - {2) Chenab {3) Ravi {4] Sutle}
fm i & ¥9- & a3 T fach 87
(1) === (2 fom (3) et (4) FAEA

(185) 4
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Super Nova is

[.1] a comet {2) an asteroid
(3] an exploding star (4) a blackhole -
edicl s

(1) qwdg (2) @2 ug (3) s s (4] =rEEe

An Indian-born, naturalized American engineer who was appointed as CEQ of
Mictosoft Corporation on 4th February, 2014 is

{1) Satya Nadella {2) Vikram Pandi

{3) Indra Nooyi {4) Nandan Nileleani

il qE & wid e ww iR, B 4 wal, 2014 B TeeatR sl 9
Wododnic figs fem mn @, A § & 31 @7

(1) W T 2) feFm o (3) @ Th [4) = et

Blood groupa were discovered by

(1) Altman (2) Landsteiner  (3) Losch {4] Ronald Rosa
- & @9 e @7

(1) srehq 2y S (3) @ (¢) dE a0
India won in Uber Cup, 2014.

(1) bronze medal {2) silver medal

{3) pold medal (4) None of the above

o T T W, 2014 F — fter my

(I} a1 92® (2) = TH (3) ok v (4) 20w & ¥ o

5 (P.T.0)
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14.

15.

16.

17.

(185)

Who developed the concept of ‘World Wide Web'?

(1] Tim Berners Lee (2) Arthur Clarke
{3} AT and T Bell Lab {4) Microsoft
‘Fed ang A4’ 6 sEumn = REm feR B ow?

{1) fm = = (2) = ¥k

B uduwedimd= (4] wrRtHlR

Who is the Army Chief of India?

{1) D. 5 Suhag (2} V. K. Singh (3) Bikram Singh (4] Deepak Kapoor
wnd & Fag w9 7

(1) Bo o TEM  (2) Fo Fo iy (3) Tawm féw (4) €% FR
Ban ki-moon, the present Secretary-General of UNO belongs to

(1] Austria (2| China

A Japan {4} Republic of Korea

HYT apEn & aewthE, W R B im o w o §7

(1) wffm (2) =W (3) =T 14) =em MRz
The Rajiv Gandhi Khel Ratna Award, 2013 was conferred on

(1) Sachin Tendulkar {2) Virat Kohh

(3} Saina Nehwal {4) Ranjan Sodhi
v it @w ™ queR, 2013 @ R wenRw B mne

(1) ofm e (2) e e (3) & @ () T W
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Malavath Poorna has become the youngest Indian woman to scale Mount Evereat at the

age of 13 years. She belongs to the State of
(1) Maharashtra (2} Uttar Pradesh (3) Sikkim

4] Bihar

ﬂmwwflaﬂﬁmmﬂm@e%ﬁmmm_mmmmmﬂ

i wfden %) Ak (R fFR Tew f PaEwd 27

(1) wEm (2) 3W Wm (3) firftem
What is the currency of Afghanistan?

(1} Rupee {2} Dirham . (3) Peso
Fprlee f g e & @ A 47

(1) ¥ (2) Rum . (3) ¥

Which country is not a member of SAARC ?

(1) India (2) Pakistan {3) Myanmar
¥R-w Y v W wem Tl 47

(1) (2) e (3) w=wR

Who is the author of Great Expectations ?

{1} Charles Dickens {2) Oscar Wilde
(3) H. G Wells {4) Mark Twain
Great Expectations % vem 51 42

(1) = R (2) SR e
{3) W@e Mo AW (@) Wk g

(4) fmr

[4) Afghani

4y et

{4) Bangladesh

{4) WA

P.T.0}
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a3.

24.

(188)

The Principal Bench of the Central Administrative Tribunal is at

(1) New Delhi {2) Kolkata {3} Mumbai {4) Chennai
ize whfRein rwpe # 1= 9 = safan b
(1) =% fh (2) e (3) gk (4) 2w

Name of the scientist who received Bharat Ratna’ along with S8achin Tendulkar in 2014
is

(1) C. V. Raman (2) M. Visgvesvaraya

(3] A. P.J. Abdul Kalam (4) C. N. R. Rao

w1 2014 # ofim 3gFR & Om e @ A Iufy @ wenfe P o AP @ A
{1) #e e W (2) WHo frviwdtm

{3) %o o e angm FIW (4) Ho To FRo T

Election to the Lok Sabha have been held so for
{1} 16 times {2) 15 times {3) 14 times (4] 13 times
3% a% e w fas e o g 4

{1} 16 WX {2) 15 ®WR {3} 14 R 4 13 "

Telangana is India™s

{1} 29th State {2) 28th State (3] 30th State {4) 27th State
Ly e i S em— T

(1) 204t (2) 284t {3) 3cat 4 274l
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Who among the following proposed the concept of Earth Hour?
(1] Jim O'Neil {2} Theodore Levitt

(3) Baruch Blumbers (4) Andy Ridley
Pt # 4 s ‘aid st 9 swmon = T R o

(1) fm st’Se (2) ftei Afe (3) wew = (4) v s

The largest gland in the human body is

(1] liver {2) pancreas (3} thyroid {4 endocrine
W v B A A s o T b

(1) =Fa (2) ST (3) urETEE (4} oA

Comparny showing apparent concern on environment by fake methods and shortcuts to
appear as environment friendly organizations is called

(1) green lighting ~ (2) moon lighting

(3) green washing (4) rainbow warrior
tnﬁyﬁﬁmmnnﬁmmmtwhﬁmqimwﬁmﬁmﬂﬁmmm
- uet Wt oA #

(1) ¥ i (2) YA wnfEn (3) 3 Tifim i4) Y& af

‘WPT’ in used as an acrotym for

(1) World Price Index (2) Wholesale Price Indicators

(3) Whalesale Price Index (4) Woikd Price Eudicsitors
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‘W’miﬁnﬁﬂﬁ%ﬁﬂhﬂﬁm#mﬁhﬂmh

(t} o¢€ WEE VT (2) Bedm wE ik
(3} Orode TR e (4) awd wgw ¥
30. Narendra Modi took oath as Prime Minister of India on 26th May, 2014,
(1) 15th (2) l4th (3} 12th (4) 13th
.ﬂiﬁﬁﬁiﬁﬂf. 2014 ® WA & —— wuEdd A g T
(1} 153 (2) 143 3) 124 {4) 134

Directions: (Question No. 31~38) Following twenty questions consists of legal principles
and facts. These principles have to be applied to the given facts to arrive at the
most reasonable conclusion. Such principles may or may not be true in the real
sense, vet you have to conclusively assume them to be true.

fdm (S T 31-38) Prafifa fa ywt § fiftes gt v aedt w1 e ¥ At 30
ﬁﬂmqgaﬁ%hqﬁmmmm#mmmtlﬁmmmﬁwm
era & wE ¥, T WeEEE TR AR e R A ' )

31. Principle : Only Parliament or State Legislatures have the authornty to ¢nact laws on
their own. No law made by the State can take away a person’s Fundamental Right.

Facts : Parliament enacted a law, which according to a group of lawyers is viclating the
Fundamental Rights of traders. A group of lawyers files a writ petition challenging the
constitutional validity of the statute secking relief to quash the statute and further
direct Parliament to enact a new law.

{1] No writ would lie against Parliament, as the Court has no authority to direct
Parliament to enact or re-cnact a law

{2) The Court can quash existing law if it violatea Fundamental Rights and can direct
Parliament to make a new law

i3] The Court can quash the existing law if it violates Fundamental Righte but cannot
dirert Parliament to make a new law

{4} None of thega

(185) 10



32.

(185}

14U/117/27 {Set No. 2

g . ¥ wwr wm o @ RuRed # wd W w0 ot ) ven mo Bt w0 o
WA feth =% % o afted = ¥ T s

7E w3 W W e i, @ s wdel % o e B o i ¥ e wRe
% P wE a1 e % o ey 3 o fufm vPm oo R o w wE v W
T § o ¥ @ wE FER W R @ w0 T WA W G 3 R g

(1) daz % fing 1 zm 3@ v 6 a1 awh, wiE B B doz N B wg A
™ R e e W REm 3 W afem et

(2) W WIR WE W © W wwa R, R e Al @ 3§ T B e ®
mmwmﬁmﬁiﬂmﬂmmk

{mﬂimwﬂmmm% uﬁnwwﬁmﬁwmmt,aﬁnm
F T wp W Fln o 2 wem

) ¥ ¥ wf W

Principle : Where two or more persons have made a complaint for the grant of
compulsory licence to the Copyright Board, the licence shall be granted to that
complainant only who, in the opinion of the Copyright Board, would best serve the
interests of the general public.

Facts : Four persons made a complaint for the grant of compulsory licence to the
Copyright Board.

{1) Licencec shall be granted to only one complainant
{2) Licence may be granted to two complainants
{3) Licence may be granted to three complainants

{#) Licenece must be granted to all the four complainants

Y 1.0}
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33.

{18%5)

m:mmﬁ,mmmmmmﬂmmmamm
qﬁ#wﬁ%mm&ﬁmhﬁmﬁﬂmaﬁﬁ@m,mm&ﬂm
§ o e % fim # dga B w=om)

m:mmﬁﬁimﬁ#mﬂﬂaﬁmtmﬁWM|
(1] omBR ¥ & PAgTwal % R @ =g frn men

(2) wREm A Paras ® e fm W awm 2

{3) mmwﬁam@mmmt

[4) amas oh 91 A=l B sEw @ wige e S

Principle : Whoever attempts to commit an offence punishable by the Indian Penal
Code and in such attempt does any act towarda the commiasion of the offence, shall be
punished. Stealing is an offence punishable by the Indian Penal Code.

Facts : A maker an attempt to steal some jewela by breaking open a hox, and after so
opening the box, finds that there ia no jewel in it.

{1} A has commitied no offence
{2) A has committed the offence of stealing

{3] A has attcmpted to commit the offence of stealing
[4] None of the above

ot wufs wdw Iz wfen % awn 2w 8 9 s w0 W o wa b, v o F
1 o W@ w0 A wedn 2 aen w8 W] oW R, 9 x oW weft @ 9 alin 2
dfim T Sz o s R

I A AW R AYH $T A 91 FR W W W R, 3 e 0 ot
=R g Jor 5 T ampm @ § & ) '

1) A3 = s aff faen R

{2) A3 I F3 Fr 3oa B b

B) AR =+ w1 www whE w3 W vaw fFm ok
4 e & 2w Sl

12
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Principle : An employer ia liable for the negligence of his employee. But an employer (s
not liable for the negligence of his employee if the victim of such negligence ia one of hia
other employees.

Facts : A and B were working in a factory as unekilled labourers. A was carrying a
basaket of stones on his head. B was sitting on the ground. When A croased B.alofa
audden a stone fell down from the basket and hit B on his head. B died immediately.

(1) The owmer of the factory will be liable

{2) A and the owner of the factory shall be jointly liable

(3} The owner of the factory will not be liable

(4) None of the abave

g : w PR et wHId B Ima® ¥ R sowet fm b AR w4 Do sy
el B vl % fon s Tl § s Gf Qo Stk I8 amEndt W R 3o W
& Pt 3am W .

T AW B AR ogre W F A W R Y A9 R
wad AR M@ W, B WA R4S 9 9w A B ¥ 9w o, D AR A @ ww AR
w, @t B % fimw wm B g@ @ momm

(1) e F wwh g

{2) A7 wrant f1 =@l agw w9 8 IO w

{3) wrEm W wWrh IwEEht off Bm

{4) 370w & @ wif off

Principle : A person has no legal remedy for an injury caused by an act to which he has
consented. :

Facts : X, a cricket fan, purchases a ticket to watch an IPL match. During the match, a

ball atruck for aix hits X on his body and injures him. He sues IPL for compensation for

the medical expenses, 2
Which of the following derivationa is correct?

(1} X should be compenasated aa he purchased the ticket to get entertainment and not
to get injured

(2} X would be fail in his action, as he voluntarily exposed himself to the risk

(21 !PL would be linble as it did not ensure that the spectators were proteeted from the
riak of such itjuries . :

{4 None of the above

13 P.T.0)
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(185)

frzr ;. feeh 3w go gmm A A s % fm wdfl g wewa ol R, R
weafy 3w gra & W

i!'lil:X,Ew,ﬁaﬂfﬁﬂﬂ{ﬁohﬂm%mmmtlhﬂim
faend®t g 9w RS % WO A X g @ sEm ® o ¥ a3 smedlewme & g dfimw
sfogfd ¥ forg e & T wgE w=@ b

frafafom § @ -t sgafa o &7
() X % gl % I ik, =ifE 33 iR & fag e ol @, a=a 0§ fm o
(2) X W TR A smwa wm, @ity s Seegds Afm wve o
{3) Ffoftoume IwERh ®w, W& 3 da W H W R T W A Rfy § G
H wEen gRtm 34 $it d
(4) 3w F & wrf aff

Principle : Agreements in restraint of marriage are void.

Facts : X enters into an agreement with Y whereunder he agrees not to marry anybody

clac other than a person whos¢ namec starts with the letter and promises to pay
Ra 1,00,000 to Y il he (X) breaks this agreement,

Which of the following derivations is correct?
{1) There is a contract between X and ¥
(2) There is an agreement between X and ¥ which can be enforced by the Court of Law

(3) There is an agreement between X and Y which cannot be enforced by the Court of
Law

(4) There is a voidable contract between X and ¥

fagra : fram ¥ IEdes aEw wlde A §

™ XY % 6 uE e o R, faeE i o W oW | veR wen owmm } fF oaw
1A Brf 3 = % v fam o wtm, Rem ™ 3@ R ¥ B oy B 2 s oaE v 9
1,00,000 % 23 w1 Iy #m }, aR 9 W i | 3T s by

frafaflys i @ - sgeafe T8 7

(1} X @Y % 7 us gag 3

(2] Xﬁ?#mnﬂaﬁt.ﬁ#mmm&am#mmﬁmmmt
13) xqﬁy%mm;maint,ﬁ%mmmﬁam%%qm?ﬁﬁmmm
(4) X @Y % 7 @& [ Ay §

14
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Principle : Minor's agreement is void from the very beginning. It can never be validated.
It cannot be enforced in the court of law.,

Facta : X, a girl of 16 years of age, agrees to buy a mobile phone from ¥, who is a girl of
21 years of age.

Which of the following derivations is correct?
(1) There arises a contract between X and ¥ to sellf buy the mobile phone in question

(2} There arises an enforceable agreement between X and Y to aell/buy the mobile
phone in question

(3) There doea not arise any contract between X and ¥ to sell/buy the mobile phone in
question

{4} There arises a voidable contract between X and Y to sel] /buy the mobile phone in
question

m:mmmmqﬁﬂmﬂmtlﬁmmMWWmMIﬂ
e # vaffa fem T @va T dan

™6y N E AR X 2 WD agH R Y A A B9 W T
wEra )

PAeffam & ¥ F9-6 =l od 22
(1} 7 X @y ¥ 9@ 3% dawa o F fAaw/ew W agaw ARE § s
{mqﬂxqﬁf#mmnﬁmm%ﬁammwmamgﬂmﬁﬁﬁm
{Sjﬂﬁxﬁfismmﬂmﬂ?#ﬁmfﬂm%ﬁﬂaiﬂaﬁaﬁ?ﬂm
{4]uﬁxﬁ¥tmaﬁmﬁqtﬁﬁumﬂmuﬂaﬁmﬁaﬁm

Principle : When one person signifiea to another his willingness to do or to abstain from
doing anything with a view to obtaining the assent of that other to such act or
abstinence, he is said to make a proposal. The cxpreasion of willingness results in a
valid proposal only when it is made/addressed to some persor(s).

Facts : A makes the following statement in an empty hall, T wish to sell my laptap for
Ra 10,000, _
Which of the following derivations is correct?
(1) A mnade a statement that reasulted in a promise
{2) A made a statement that resulted in a proposal
{3) A made a statement that did not result in any proposal
{4] A made a statement that resulted in an agresment

15 (P.T.0}
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ﬁ@m:ﬂqmmﬁﬁtgﬂmﬁﬂﬂmﬂu@ﬁﬂaﬁwﬂ#fmﬁﬂﬂmﬁaﬁwm
ﬁqmﬁmmmmt,aﬁmmmmmﬁmﬁaﬁmﬁaﬁh
mﬂméﬁt,m?ﬁ@wﬂﬁmﬁmﬂ#mmMmh

7@ . AT @eh we § o7 awe 0 &, N Fw @i W 10,000 %o & S wwwm ¢
Prfafes # @ S agefa 5@ A7

(1) A} wE aw=a B, famdt @ 9 & = A e

21 A = aw= B, ed o TR w = R fam

(31 A Y T o= i, R fed wem w w3l o

4 A Tew fm, AR @ g | w1} fom

Which of the following is not a Fundamental Right guarantecd under the Constitution
of India?

(1] Right to Work (2} Right to Life

{3) Freedom of Speech (4] Right to Equality

wids ofaam & aem o ¥ o gengp afisn A A Tl vgm f 7

(1) ®& w1 HAfEw (2) =3 = iR

(3) ARE-FETAH _ (4) wwEm w1 RftEw

Fiduciary relationship is relationship based on
f1] contract (2} trust

{31 blood relationship (4] money
mfte we-e B s amafa gwm 27

{1) =Y 2y faam (3) TH-E=Y (4]

16
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Which of the following is not an intellectual prapesty?

(1) Patents {2) Copyrights.

(3] Trademark {4) Property of an intcllectual
frafafte § @ FR-# = WM T ™ 27

(1) ¥z (2) HhfRE

(3} 3w (4) o= Yheeht R wfy

Which of the lollowing is not the function of the International Court of Justice?
{1) Advisory opinion at the request of General Assembly
i2) Adﬂaonr opinion at the r:qu:at of Sccurity C-ounml

{3) Interpretation of er.ahca whcﬂ considering legal d.mputes bmught before it by
nations

4] Deciding intermational crimes

srodfin e %1 B9 # R IE-m wd R

(1) m#@mﬁﬂm@f@iﬂ

(2) grar g & wgdy w fREeqd wmd 3

13) T Ay @ M Ay faftes fad @ A ¥ v afiet © s
(4 widm smal w1 BokA

Atro vires means

{1) within the powers {2) outside the powers
(3} within the Fundamental Rights (4) within the Pundamental Duties
steer wiwd (siftmndE) | o R
(1) v % s (2) wits & R
- (3) e ARwel ¥ swla [4) TEnE wal & el
17 PO,
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44, Which of the following Constitutions is a Unitary Constitution?

(1] USA (2) Indian (3] Australian (4) British
fio 4 8 wR-71 afae o e wGfagm 37
(1) STy (2) v (3) st (4) firfem

45. Ex-parte decision means a decision given
(1) after hearing both the parties {2) without proper procedure
{3) after obheerving proper procedure (4} without hearing the apponent
vewdn P+ s @ o S Pefg, S fs oo B

(1} 2t vl & g F g ; (2} wqfam whirm 1 Tem fm afc

(3) wHfwm wiFm & we &% e (4} faiedt v & gEar ¥ win
46. [pso facto means

(1] in place of (2] by reason of firat fact

(3] by the same sources (4) by the way

wat bt A amm R

(1) % WH R (2) Y99 W@ ¥ HWW W

{(3) A @A ¥ wn W [4}mrrarﬁ

47. international Law is the law between sovercign States. A sovereign is the Supreme
Authority not bound by legal constraints '

{1) International Law is not binding

(2} International Law is only a positive morality

(3] International Law is binding

(4] Intermational Law ia in the nature of pact between savercign Statea

[185) 18
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:aﬁﬁ:ﬁﬁmwﬁ%mmﬁﬁmmmqmma,awm
I

(1) swmighy fafy sowye -4 4

2) sl faft ¥ o5 weweE Aawm R

(3 =rivm fAfy duage § .

(8) wid fft wi o ¥ e fre e age o e 3 Rita 2

No minor can enter into & contract of work. Working in a factory can be posaible only
by & contract. Which of the following derivations is correct?

{1) A major can work in a factory |

{2) A factory can contract with & minor

(3] There cannot be a contract to which minor is g pa.rﬁ.r
{4) None of the above

ﬁﬁmmﬁmmqﬁHMImmﬁmmmmmm
¢ HE R F R A seafh ol 47

(1) o o fid) v & ww = dom 2

(2) & W Rl srrees & W v woTea

(3) PRl s & og B H RR § B e g
{4 Frie & F wrf

Which among the following in the Constitution of India is called ‘Magnacarta’?
(1) Directive Principles of State Policy

[2) Preamble

(3] Fundamental Duties

4] FPundamemtsl Rights

19 o)
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50.

51.

53.

(188)

ardta whm # fredafen 8 3 A ‘Awmeed’ ®m omm &7
() T % AR BRve fige (2) W
{3) HEME F= (4) Tem fEm

The Preamble of Constitution of India is

(1) a part of Constitution {2] not a part of Constitution

(3] an annex to Constitution {4} a schedule of r_hc_ Constitution
i dlar B yeem —— 2 |

{1) TR 1 TH Om (2y ®fReE = o T

(3) wfam =1 o oifie (4) "fwm 6 & R

Who is the final interpreter and guardian of Indian Constitution?
{}} President {2) Prme Minister

{3) Parliament (4) Supreme Court
sty wfage = afEm smemw @ oW R R

(1) wafe (2) e

(3) "ug ' (4) W= =T

Right to life and pereonal liberty is guaranteed to

{1} every person under the Constitution of India

{2) every citizen under the Constitution of India

{3} every adult citizen under the Constitution of India

{#] every minor citizen under the Constitution of India

20
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d @ =fed @A @ wftwR vew fen w3
(1) ez wiagm % wa wodw =i =

(2) v wfem & TRw e )

(3 wedtn wfawm & awe S gTE TiE R
(¢} vndla dfem & T W sEmw s |

53. Find the odd one out

{1) Mandarnus (2) Certiorun A3l Quo warranto  [4) Sine die
Prafafem & & frm e =t Rifim =t
(1) dwy (2) affana (3) ® ane {4) o =

54. Concept of judicial review is of the Constitution of India.

(1] temporary feature {2] basic feature
(3] weak fenture {4) irregular feature
AnieE iR ) sEewRn yRde dhem $ — R

(1) wwarfi ¥t (2} YEn{@ w9 (3) =R =g {4) sTFmfa eTEn

55. The Supreme Court of India consists of Chief Justice of India ang other Judges.
W ¥ wate Ao § O % ge adm ¥ sfke s — emfm 9 )
(1} 30 2) 25 (3) 26 4) 29
56. India 153 & Union of
{1) Countries {2) States {3) People (4} Iustitutions
WA ¥ T §
{1] ¥ = (2) T (3) Foomm w0 (%) dewli =

(185} 21 P10
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57,

Sa,

59.

60.

(185)

The Indian Penal Code was enacted in the Year

e %z a@fen fea a4 @ A me
(1) 1960 (2) 2010 (3)

(1) valid (2) void (3)
firn felt @19 RER & e o sgEew @ R
(1) A9 \ (2) g {3)
‘Jurisprudence’ may also be termed as

{1} Philosophy of Law (2)
(3] History of Judges {4)
‘e’ Y wm A wen ¥

(1) = = W (2)
(3 =t % s @
A person ‘dying interstate’ means he

(1} died without legal heirs (2)
{3) died without a son (4]
‘T Re’ # o &, I =fs @

(1) st @3 Fed e # 7 95 ™R

(2) frm et wites % g ® YW @ ™ D
(3) w13 Bl @ = T Vs o A

1760 (4] 186D

. An agreement made without consideration is

good (4] acceptable

=30 [4) wfrwrd

Geography of Law.

History of Courts

A & i
el = v

died without making a will

died without any property

(4 st O3 frlt Tfe M W3 oG W W R T @

22
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61. Offence which cannot be compromised between the parties is known as

(1) non-cognizable offence (2) cognizable offence

{3} compoundable offence (4) non-compoundable offence

v & o gyl A B TR T e S E s d aEn = R

(1) ¥ Amfm qoou  (2) ¥ 909 (3) wTmdm sy (4) SR AW

63. .During criminal prosecution usually the burden of proof is on

(1) complainant  (2) accused (3) police (4) prosecution
Afies A i W gl s @ ke v g R
{1) whark (2) - wRwE (3)- giF (4] AR

63. Supreme Court of India propounded basic feature doctrine in

(1) Colaknath Case (2) Keésavananda Bharati Case
{3) Manétka Gandhi Casc (4] Gopalan Case

A b w3 g e R B AR TR 3w e

(1) "erEm™ AR (2) ¥yEWE W T

{3) W At arg i (4) TR AR

&4, Unlawful entry into another's property is

{l) trespass 4] assault (3) confinement (4] reatraint
fadt =0 =fs W e gt § A @ w® o oae )
(1) W A (2) W @) W% (4 P
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65. When the employer is held liable for the wrongful act of his employee, the liability is

called
(1] absclute liability (2) tortuous liability
(3] vicarious liability {4) strict liability
w3 whal ¥ R AT wH % R ww T P @ swed ww o o, @ ved
INEEA W %
(1) gol I (2) araqe Fuvdgar
(3; whafife oEm (4) I3 FeTey
66. The right of a party to initiate an action and be heard before a Court of Law is called
{1) Locus standi (2} Pesonam
(3) Fundamental Right (4) Private obligation
w Amrem § A @ A % Bl on ¥ sfuse 9 wwoww w2
(1) ww &% {2) wET™ (3) Tovqm wfRmn () Peh ofte
67. I[ndian Parliament is based on the principle of
{1} Bicameraliam (2) Universal Adult Franchise
(3} Diarchy . (4) Federalism
aig duz few g w amaka R
(1) feuefa - (2) A% Twew TwwR
(3) e [4) s

68. FPrivate International Law is also known as
{1] Conflict of Laws (2) Common Law
{3] International Law (4) Civil Law
Feft srmivrg faf ) fom o= & s wm A2
(1) e wad (2) T iy (3) sidhg fafa (4) Ao ARy

(185} 24
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Directlons :  [Question No. 69-80) Given below are Legal Principle followed by a Factual

Frin :

89,

(188

Situation. Apply the principle to it and aclect the most appropriate anewer for
questions among the four choices given.

(¥ T 69-80 R fiftrs figia st e fefd & wd ) v wm el ) g
iﬁﬁﬁwﬂi%mmﬁsﬁmﬂmmﬂguﬁ#mil

Legal Principle : Nuisance means an unlawful interference with a person’s use or
enjoyment of land. It includes interference with comfort, health and safety of the other.
Factual Situation : A and B are neighbours in a residential locality of Delhi. They had
cordial relations. A suddenly decided to run singing classes, he also used loud music to
good effect. B has two school going children who were studying seriously as their
cxaminations were approaching. B pleased with A to tone down the loudspeakers, but
the latter refused. B went to the court pleading nuisance. Can he succeed?

(1} Yes, because the principle against nuisance demands that the noise level should
be such as not to disturb the neighbourhood

{2} Yes, because to nun business in a residential locality is illegal
{3) No, because one is entitled to do whatever one wants in one’s house

[4) No, because under Article 19(1) {g) of the Constitution of India, every citizen has a
right to freedom of trade or profession

Rt fhgm : oo v amfEs ol @ s & feh =t T gf % 3ET s andn
T mgfm v Wil o =f ¥ amm, @rnm W g § sy o i §

s R AW B @ ¥ = i w4 ww-gm & wEed £ ot mgr w9y
HATE A 3 win & fam 3 owmiw e, St ar 32w X i W oW o =3 @ B
* 3 ol w1 o @, S ofg P oM ¥ o mivgd® s w0 ¥ o e ¥ B
Jsdonsri flama R @A R ape A, fR A e P B Y A K
s =aeR & faeg Aarman # awen TR B T o oW e & awe At

(1) ®, =i wmfes wAifd fage § o mim & % oft &1 = @k £ W 6@
A wen 7 B T

2 o, st s yas § sEmm Gern a4y b

(3] T, w6 = w® § A EEER F WX W JtEr wdt =@ oaw b

(4 W, =ik wwha gRem & g8z 19(1) (@ ¥ W E IRE W wEEm W G
o St T R
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TO.

T1.

{185

Legal Principle : When at the desire of the promisor, the promisee promises to do some
act, then such promise is called a consideration of the promise.

Factual Situation : X arranges his hirthday party at his home, and his fnend ¥ promise
to cook a apectal diah for the guests. On the day of the party, X finds that ¥ neither
came to hia party nor did he get the special dish. X sues ¥ for the breach of contract.
Will X succeed in his action?

(1} X will succeed because his friends has failed to keep his promise
(2] X will succeed because his reputation was affected due his irresponsible behaviour

(3} X will not succeed because there is no consideration for his friend’s promise to
bring the special dish

{4) Both (1) and (2) _
fafte Rgra . ww A whgaal B =i § emgar W w6 s w1 g WY, @ owe
v ¥ 9fd FEEgE =m T d)

s Tl X AW R WA w ¥ # ™ o A w8, el e @
fay s Sfmffiesw M s W o ¥ P X S w0 a9a ¢
YAR ud § s ool 3 @ o Rfie www A e XY ¥ fRg e 3 oW
WAA TRR T & W0 X I tm gma § aew #me

{1) X =& vrm, Wit sa% B 3w g9 @ I F

(2) X "%a §m, wifts fim § ofiadh 2w % sowsy W i @ e o
(3) X awar 7 #m, wifE 0% fim £ awwgm fafn o 3

(4) (1) @ (2) g

Legal Principle : Law does not take notice of trifles.

Factuall Situation : A proposes to his neighbour B that they both should go together for
a mornung walk. B agrecs to the proposal and it is decided that both of them would
meet at a particular point at 6 am. every day for a continucus period of seven days.
But B couldn't fulfil his promise. Thereafter A files a suit against B claiming damages
for the agony and mental torture suffered by him. Decide,

(1) B is guilty of breach of contract and is liable to pay damages
2] There is no intention to enter into legal relations

{3) The rnatter is too small and the Court will refuse to go into it
{4} The matter is serdous and Court will accept claim of 4

26
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fafrm frgm « FrgE wogeh awt @ awe B TE W 2

mﬁﬁr:am&wﬁﬁs%mnmmtﬁuﬁmmﬁqmtﬁmm
T A Wy B YA W A weafd s wen R o w37 fem wm & fr oo sl wm
ﬁﬂﬂmﬁﬁﬁ!mmnﬁﬁ?m:ﬁﬂﬁmﬁlﬁﬁﬁﬂmmwmﬂ
mmtﬂmais%ﬁqmmmmﬁmm#ﬁmw
w g geR fin Bofe i

(1) B wpm & g w1 vt & shaefd & qgrm ¥ forg s @

(2) = wrph me § Swn W T

(3w g AvEh & fF e w ow wE sdad Y @ wen o= m
(4) wrren Ak} o ATEm A % @ Y wfieR | dm

Legal Principle : A master shall be responsible for the wrongful acts of his servants in
the course of his employment.

Factual Situation : ‘The Syndicate Bank’ was running a small savings scheme under
which its authorised agents would go round and collect small savings from several
people on daily basis. These agents would get commisaion on the deposits so collected.
Anand was one such agent, collecting deposita from factory workers engaged on daily
wages. Though he regularly carried on his business for sometime, slowly he started
eppropriating deposits for his personal use and onc day he just disappeared. One
Fatima, who had been handing over her savings to him found that nearly for a menth
before his disappearance, he was not depoaiting her savings at all. The Bank, when
approached, took the stand that Anand was not ita regular and peid employes, and
therefore, it was not responsible for his miscanduct. She files u suit against the Bank.

{1) The Bank is not liable, since Anand was not its salaried employee

|2) The Bank is liable. since Anand was projected as its employee

{3] The Bank is not liable, since it did not known abeut misappropriation by Amand
(4] The Bank is not liable as Anand was not its regular and peid empioyee

27 PTO}
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73.

(185

=
fm o TR W o W IwE oF afeen @ fF ool I
Al s

%m;mmmmtmmmwmtmmﬁml

g e ¥ wud & @H WEEE o a ey et v v Fraf
o 1 0 o s 1ot . v P &

W

1| ¥ o7 s WA % 38R w99 i oft W o Im T wn @ =
wupd fem W, @ sEe T® FEN @1 % ame Tw dwnirdt Pafm e o @, wh
% W Al s ¥ forg weEh T & wfm 2 &% ¥ g ww awen gm w)

(1) % I Tt 8, ifE 9T IR @ denim sl ol @

(2) ¥ gt ¥, FE oz B Iuk wEl ¥ = F vARa R o o
(3) ¥= sweEt T ¥, wifE W W IO TR F oA R Il A @
@) A% Tarh o, wiftE e I Fafm @ Jenaett sl ol @

4 ud

Legal Principle : Whoever, intending to insult the modesty of any weman, utters any
word, makes any sound or gesture, or exhibits any ohject, intending that such word or
sound shall be heard, and that such gesture or object shall be seen, by such woman, or
intrudes upon the privacy of such womnan, shall be punished.

Factual Situation : Ms. Praveen works in an Export House ir. Greater Noida. There are
more than 150 employees along with workers in such cotnpany. One of the employees
Roshan wanted to have some talks with Ms. Praveen. But she scolded him in front of
some 50 werkers in employee’s canteen. Taking this grudge, Roshan every day during
entry at moming patted Ms. Praveen's hand and shaked her right-hand for few
minutes againat her will. Cne day -she made up her mind and informerd her Bosa. But
the Boss due to the work efficiency of Roshan did not take any action. She alternatively
informed the Police. Police arrested Roshan. Roshan told the Police to defend himself
that he used 1o shake her hand as it is a manner of wishing a colleague and that his

Boas is enough to take action because it is the work place and his Boss is competent to
decide matter himself. Decide.

(1] Roshan shall be punished because shaking hand with a pirl apainst her wili

ameunta to the sexual harassment at work place and such an act is subject to be
prosecuted

(2} Roshan can be punished only by his Boss not by Court of Law and if his Boss
forgives then no law is there infIndia to punish him

(3} Roshan shall not be punigshed because shaking hand is no offence in India -
(4} Roshan shall not be punished because he acts in such manner only during office
hours and before many employees not in an abandoned area

28



.

(1B}

14U/ 117/27 /Set No. 2

g

533
314
apL
j&
|
|

#
3
53 74

%

%

#

i?;ﬂg%i

F
:

" Tads
%
¥1
:
73
;’#
3
£
:

%
: Y
K
4
-

1425
E
%
? 1

%
;
i
:
:

(2} T Faw sk Al P00 R R4 fem I T X, ¥ g T o am Wty S} @ R
# 3m Y, M A ot oW e F Y o ¢S R R W s

(3) tw @ = vt 3@ 4, wWifE wy e awe 3 sFEw T wE S

™t de o vl R, Wi o fft g v R e A ¥ 5 # e owg @
G ¥ weet ) YW s s}

Legal Principle : The oocupier of a premises owes a duty of care to all his invitess and

Factual $ituation : Lalod was running a dairy from hiz house. People used a part of his
farm as a shortcut to get to a nearby railway station. Laloo who did not approve of this,
put up a notice tiat " Trespassers will be prosecuted”. However, since a number of
these people were also his customers, he tolerated them. One day, a person who was
using this shortcut was attacked by a bull belonging to the farm. The injured person
filed & auit against him.

(1) Laloo is liable for having kept a bull on his farm

‘(@ Lakeo 8 oot liable in view of the cleur notice ngairst trespassers

{3 Laloc ie liable becausc in fact he allowed the people to use his premides
{4] Laloc is not liable to the people other:thesi I cymtopiery -

29 (PRO.}
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T5.

(185}

ﬁﬁmﬁm:ﬁwﬂmmwﬁmﬁaﬁﬁawﬁﬁﬂﬁaﬂmﬁmﬁmﬁﬁﬁﬂwm'
iz #an R .

mfﬁﬁ;a&mﬁmﬁmhﬂmmmé\na@:wﬂ%ﬁmmm

Precadfl 2xr wF W TEA ¥ Rm R w) 3 we W T w9, wR S

ADw & B sARER VY FQ 9@ e wh E AR fi R At d oed e @
o +f i A, TERTM I TEES W FO1 ORI UHRA W@ Y- TR ¥ W R &
o wd % T e ¥ e W uwe sais Y e, ¥ feg wmen g | R

() o @ ol w i ¥ ferg e X
(2) @ Tt T R, it I w faea § we w0 A ARm A A

(3) o FoEd ¥, T awed A S@ w wEE § ofe @ owm ow A g A R g
wft

[4) T @ TEw % AR = =t ¥ R Toerh T8 8

Legal Principle : Whoever by words, signs or otherwise brings into hatred or contempt
or incites disaffection towards the Government established by law in [ndia shall be
punished with imprisonment for life.

Factual Situation : In a public meeting, Vikaa Singh, the leader of an opposition party
thunders, “This is a Government of scoundrels, bootleggers and scamsters. They
deserve to be unacated. Teach them a lesson in the coming elections by voting them out
of power”. The Government is contemplating to prosecute Vikas Singh.

{1] Vikas Singh is guilty of sedition for having made irresponsible and mflammatory
atatements against the Government

[2) Vikas Singh is not guilty of sedition as he i3 only exerciaing his freedom of speech
in public

{3] Vikas Singh is guilty of sedition, as his statement would incite people to violence

leading to breakdown of law and order

(4} Vikas iz guilty because he has used abusive language
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ﬁﬁmﬁm:mﬁ,ﬁﬁmmaﬁ%ﬂmihwﬁwﬁamﬁiﬁw,
uﬁﬁnmaﬁﬁnﬂM%mﬁfﬂwﬁW&aﬁmmwﬂM|

mﬁﬁ:maﬁm“ﬁhmm%mt, "ap wWwR e, e
mnﬁﬂmtlimﬂmﬁmaﬁtmtlmﬁﬁmﬂmﬂmﬁ
o fveml’’y wown frawa fiw wogEen SER B oW F @ b

[y‘ﬁmﬁsmiiﬁqﬂtﬁﬁmmmﬂwiaﬁ_aﬂaﬂ%mm#ﬁt

p;mhmtmmg,mammimmm-mtm
] v o ¥

{3]ﬁmfﬁztﬁm%ﬂﬂi,aﬂhmm:@ﬂﬁfﬁmﬂ;mm&aﬁ
mtmmmmﬁ#ﬂm_twﬁﬁmt

(2) ﬁmﬁt,ﬁﬁﬁiw«@aﬁmﬂmm_t

Legal Principle {1} : Mischief is an injury to property with the intention of causing
wrongful loss to any person or public.

Legal Principle (IT) : The person to whom the loss is wrontgfully caused by mischief need
tiot he the owner of the property himself. '

Factual Situation : A has icased his house to B for 5 years. After onc year A feels the
need for the house and requests B to vacate the house, but B refuses. A in order to get
B to vacate the house, causes firc to it, but B with the help of the ncighbours quickly
extinguishes the fire before it could really damage the property.

(1] A is guilty of mischief

{2) A cannot be guilty of causing minschicf

(3) A is not guilty of mischief as there was no demage

(%) 4 is mot guilty of mischicf because A in owned i thait- houdl

a1 P.1.0)
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ﬁﬁmﬁmam:ﬁhﬁmﬁnmﬂﬂmﬁﬂaﬁqﬁmﬁ%w&ﬁﬁaﬁmm
ﬂqﬁlﬂmwmtl

ﬁﬁmmm];mhaﬁamﬁﬁmmmﬁwmt,mmnﬁ@Im
wrl B e T ¥

e ff A S sH BR s s fm i wRm i w wd ¥ AR A R W
rm B ErET B R o T B R ardy ww & B o 3 W W weh WY, aF B
Qmﬁiﬂmnimtlsmmﬂaﬁﬁﬁi,mﬁm%A:mmﬁammamz,
af B Ot @ TEew ¥ anfy W arwa § gt oSt @ v @ T A P AW A b

(1) A wow & & 9 R

2] A WA w3 = 49 T § T

@) A wom FA W AN T ¢ W D af A o

4) Amﬁmﬁﬂt.mwmmmﬁmt

A finds a diamond ring lying on B's table. A picks up the ring with the intention of
dishonestly kesping it.

i1} A commits theft because he has moved the ring from B’s table without his consent
{2) A does not commit theft because he has still not left B's house
13] A does not commit theft becanse B ia careless with his valuables

[4} A commmits theft the moment he picks up the ring dishonestly and intended to keep
it '

ARfimarmRAMH AdiTmi Asep i maR e d
AH B 3 dw Y

M-Adtw g, kg pfidamassfisER s an S mimt
(2 At ANt} wifs o as e B & w & s = w2
(3) A vt = 2nft =t R, iR B grER a@el ¥ aR wrER 2

4 AT i wiME W FeEs IR R o Amt ok R a9 s ™
A = wa wo b
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Legal Pl:iﬂi.‘.iple * When any person dishonestly takea any movable property aut of the
posaession of any other person without his conasnt, he is guilty of theft.

Factual Situation : A comes to B’s house and takes away a book with the inbention to
return it.

{1] A commits theft because the book has been taken without B's consent
(2) A does not commit theft because he intends tg return the book

(3] A commite theft becausc he has taken a book which ia movable propesty
{4] A commita theft because he has moved the book from H'e housc

mﬁm:maﬂimﬁsm{hﬁ:ﬂ@imﬁﬁﬁmmﬁﬁmmtﬂtﬂ
b, WA DY W g X

v By AB ¥ W A w v e T amw A b R @ R wm b
(1] A S & = 3t 2, wif% B R agaft 3 Wk wem ¥ omn

@) A0 % F Ad o X, Wi SEw wa RS W awm W 2 W o

(3) AT FY o 3oh R, wifE T s A T o, N ww w R

(4) A%ﬂwt.ﬂhmﬁmﬂaﬁsmﬁwﬁmm

Legal Principle (I} : Any person may use reasonable force in order to protect his
property or person.

Legal Principle (II) : However, the force employed muat be proportionate to the
apprchended danger.

Factual situation * Ravi was walking on a lonely road. Maniyan came with a knife and
said to Rawi, “Your life or your pursc”. Ravi pulled out his revolver. On sceing it,
Maniyan ran. Ravi shot Maniyan on his legas.

(1} Rawvi will not be punished as there was danger to his property

(2) Ravi will not be punished as thec force he used was proportionate to the
apprehended injury

{3) Ravi will be punished as the force employod was disproportionate to the
apprechended injury : x

(9 As Maniyan ran to escape, there was no loogey a tjept to. Ragkle pragerip. So Rawi
will be punished

23 wrh,
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(185)

ﬁhmm;ﬂimmmmmmﬁmﬂgﬁawﬁmmﬂm
tJ|
fafts Rrgr (1) : P ofs W wam gonfae At & ageR @ g it

aorE ffd ;O uw P wsE W dew o @ o wheE we gl dR o E gm o
s 39 @, "mmquﬁ”itﬁimmmlﬁhﬂqﬁmml
#1 3 faren B orR ¥ 4w wsh W= fam

(1) ¢ # <z wft B smem, wifE wR gofy B om0 @
2] ®1 ® zx 38 B wen, FWifs I el D & sgee § & ofs w0 o fenow
[3]dﬁﬂﬂﬁmm,ﬂhmmﬁaﬁz%mﬁmmmmﬁmm

(@ Ife aPmm v & fag wm o w, @i @& ) wf R A ge W mowbe @
= Zfea fem wom

Legal Principle : For purposc of exercising right of private defence physical or mental
capacity of attacker is no bar.

Factual Situation : Sumit in his madness attempts to kill Shabana. Shabana in order
to save herself hits Sumit with iron rod.

{1} Shabana has right to private defence though Sumit is mad
2] Both Sumit and Shabana are guilty of no offence

i3} Shabana has no night of private defence since Sumit is mad
{4) Shabana is guilty of inflicting grievous wyjury on Sumit

faftw R « =g TRme & aftem ¥ Em § ST B IORE W TeRE qwm =
e T

vaws Ry - gim e @ Rl & e o oS w0 e b e &
fom gfim @ oF Wk ¥ 5% & WER W= Y

(1) o % =fem gRem w1 wfver ¥, 7oft gie o 2

(2) g o oo A9 s % A Tl ¥

(3) wEm =t sfeer v w w4, =i gRe e 3

t4) Yo ghE A i oWy @ T wa A I b
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Xcanwalkaoertaindiatanceanddﬁvcbackinﬂﬁhours. He can also walk both ways
in 10 hours. How much time will he take to drive both ways?

{1} 02 hours {2) 02 and half hours
(3] G5 and half hours {4) four hours

Yo 3l o b we K AR X aw W W 06 W 4 aww ehe www b a5 A s e

iaiﬂmﬁ%ﬁmqﬂﬁaﬂmmtnﬂﬁmmmnﬂm@aﬁhﬁm
# m W dmy

(1) o2 @ & (2) 02 v 7 62
(3) 05 v3 M G2 & {4) W @2 §

A sum of Rs 7,000 has to be used to give seven cash prizes to the players of a team for
their performance. If each prize is Rs 200 less than its preceding prize, what is the least
value of the prize? '

T,maaﬁﬁnﬁwmmm#ﬁmﬁﬂﬁmmm%ﬁmmmm
tmﬁiﬁ%mﬁmmmmmmmﬁzmﬁamﬁ,?ﬁﬂmﬂuﬁnm
v fafalm ¥ 4 F¥9-m By

(1) Re 300 {2} Rs 400 {3} Rs 600 4) Rs 800

The tank-full petrol in Mrs. A's car lasts for 10 days. If she staris using 25% more cvery
day, how many days will the tank-full petrol last?

W A TR w0 g A A B aw B R 10 R v A1 o aw wBRe 25% ot
Wiw & Twm W, @ W A T 6 P R e

(1} 5 2) & 3) 7 (4) 8

as (P.2A2)
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B4.

85.

{185)

Examine the following three Eguresinwhichthé nurnbers fallow a specific patiern :
2 @ nf 7 FRE 9 am A 3, fad sord ww fm e & 8

B84 Bl BE

14 | 12 18| 9 ? 111

The missing number {?] in the third figure above is

o st § frgm @ (7) 2

7 {2} 16 . : 3 21 (4 28

A car travele at a certain average apeed for a distance of 63 kan and then travels a
distance of 72 km at an average apeed of 6 kimn/hr more than ita original speed. If it

takes 3 hours to complete the total journey, what is the original speed of the train in
km/fhr ?

T FN O AT TR R 63 kon # 0 oaw wwdt ¥, R W T ot gm R A afis afy
6km/hr BT A 72 km R 7 FA R @A oo D pf AT 3 5w o
ar &, @ R H ga 1 km/hr § Befafs 4 @ - ¢

(1) 24 {2) 33 i (3) 42 |4} 66

A boy X running at 8 km/hr is chased by his friend Y whosz speed is 10 lan/hr. If X is
100 m ahead of ¥, then the time required for the ¥ to catch X will be

8 kn/hr 1R @ A2 a@ w T X T AW wh B v w0 fem wm Y, Rl of

10 km/hr 21 7R X, ¥ & 100 m amt B, ﬁyahxﬁrmi%ﬁqﬁaﬁmﬁ
WTTEED T ?

1) 2:min * {2 3 min (3} 4 min (4} & rmin
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In a clang of 45 students, a boy is ra:nked?l}l:h When two boye joined, his spnlk was
dropped by ope. What is his new rank from the end?

(1) 25th (2) 26th (3) 2%th 4] 28th
45 Wl W o e 208 F9 W A WD wow =@ § afafm W™, W ww

W T Sl T & e B d @ e B

(1) 254 (2) 26at (3) 274t (4) 28t

There are some balls of red, green and yellow colour lying on a table. There are as many
red balls as there are yellow balls. There are twice as many yellow balls as there are
green ones. The number of red balla

LT PR T P : : - i S
{3}, j» equal to the sum of yellow and green balla
() is double the iumber of green balls

{3] is cqual to yellow balls minus green balls
{4] cannot be aacertained
wﬂﬂmﬁ,ﬁﬁﬂﬂﬁﬁﬂiﬂﬂﬁlmﬁﬁmfﬂﬁﬁﬁﬁ#mt!"ﬂEﬁﬁﬁ

B v w A @ gt U oI A ) s woh *

{1y 9= i vl S WM & e
2 ® I3 f @ gt
(3] e TF B dem A w8 W H dem wA § W oGm0 ¥ wE

(4] Fraa v smE

A wheel that has & cogs is meshed with a larger wheel of 14 cogs. When the smaller
wheel his made 21 revelutions, the number of revolutions made by the larger wheel

will be

6 T a=h o A 14 dA TR W s A & e U 9w vra s 21 W Q@ =
an ¥ W gm @ fo TE R den e

(1) 4 @ o @ 12 " M

37 {P.¥0.)



14U/ 117 /27 /Set No. 2

90.

91.

91.
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Mr. X drives to his office at an average speed of 48 km per hour. The time taken to
cover the first 60% of the distance is 10 minutes more than the time taken to cover the
remaining distance. How far is his office?

A X AR TR 48 km SR 92 A slwa wam A wen W AR AfeR @ & wF A
ﬁ{ﬂ%msﬂ%a&maﬁﬁﬁaﬂ%mmmqﬂaﬁmmﬁﬁwﬁmﬂmﬁ10
e wfes B b1 37w s feeeht gh w7

(1) 30 km (2] 40 km (3) 45 km (4] 48 km

There is a family of 6 persons A B, C, D, E and F. These are two married couples in the
family. The family members are lawyer, teacher, salesman, engineer, accountsnt and
doctor. D, the salesman is married to the lady teacher. The doctor is married to the
lawyer. F, the accountant is the son of B and berother of E. C, the lawyer is the

daughter-in-law of A. E is the unmarried engineer. A is the grandmother of F, How is D
related to E?

{1) Brother (2) Sister . {3) Father {4] Grandfather

vk qhan & 6 =% A B,C,D,E W F ¥ e # @ Pafta @ & ofem ¥ aqw whe,
fgs, fabm, PR, wRw @ sie § B D W REaw witer i 2 gan ¥ sfem
A A A @R FBEF T @ EF M AR CARIWE E W
g wiaaim SRR M AF R TS W Dw E @ T ofwm &7

{1) v (2) W& {3) frem (4 3R

How many letters of the English alphabet [capitals}) appear same when looked at a
mirror?

o o ¥R W silsh aoinen ¥ e $Rew s v vl B B

(1) © (2) 10 (3t 11 4] 8
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Three persons X,V and Z wore T-shirts of black, bluc and orange colours (not
necessarily in that order) and trousers of green, yellow and orange colours [not

necessarily in that order). No person wore shirt and pants of the aame colour, Further,
it in given that

M X did not wear T-nhi;t of black colour
{11} ¥ did fot wear T-shirt of blue colour
() Z did not wear T-shirt of orange colour
{IV] X did not wear trousers of green Cﬂ-lﬂl.lrl

(V} Y wore trousers of orange colour
What were the colours of the trousers and T-shirt worn by Z respectively?

(1} Orange and black
(2} CGreen and blue
(3) Yclow and blue
{4) Yellow and black

R owht XY @ 2 3w, 9w s @
@ f| (T W wrgEm D aveeew ol 4)) Rl o wofs 3 e @ o
£ v i o oft STEd A o 2 fE

0 X 3w o & & aff wwn
a Yy 3 X or w A-v o memn
am 2 % Toft @ = d-w ff v
V) X A ®t @ %z ft ot
M Y A wh R e aph
zww iz A-w F O v wm Ay
B i wwm (2 @@ e [311«!'#4!«_ Y ot wilh
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